MA266 Practice Problems for Final Exam

1. Find a particular solution of

A x,= [3} B. x, = [_é] C. %y = [_ﬂ D. x, = B] B = H

2. Find the general solution of

A ? el + ¢ 1 et 4 {_ﬂ et + [ﬂ
B. (1) et + ¢y 1 e?t
cafleeaf]e-]
ool f
colleenloe (3o
3. L{e'(1 +cos2t)} =7
A si1+(s—11)2+4 B. sfll <i+(<sjl_)21—|—4> c Si182j;<91+5 b. E—Fﬁ
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s—1+s2—23+5

4. Find the Laplace transform of

1 1 1 1 1 1 1 1 1 1
Aes = B. ~ —e*—  C = et D. - +2 (=4~
‘ (s+s—2> 2 ° g2 2 <5+s2> 2 tee <s+52)
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E. e* < + 2>
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5. Solve

y' + 3y + 2y = 4w (t)
y(0)=0, ¥ (0)=1
Al g (t) (2 — e~ (7D 4 2¢72(-D))
B. ui(t) (2 —4e= (7D 4 27201 o=t — g2



C. ug(t) (2 —4e= (1) 426721 4 o=t — =2t
D. (2—de (=1 4 2e72(t-1)) 4 o=t — =2

E. et —e2
6. Find the solution of the initial value problem

y' +y=0(t—mn)
y(0) =0, ¥'(0)=1.

Ay = sint + up(t)sin(t — m) B. y = sint + ur(t)sin(wt) C. y = ur(t)(sint + sin(t — m))
D. y=u,(t)sint E. y=sint+ u.(t)sin(t — )

7. The inverse Laplace transform of

—S

se

P = o2+
is?

e"lcos2(t — 1) — Let~lsin2(t — 1))

e 'cos2t) — 1

(
( e tsin 2t

(e7"*lcos2(t — 1) — le " sin2(t — 1))
(

A
B. uy
C. uy(t
D. g
E. e " lcos2(t —1) — e "Flsin2(t — 1)

8. L {/Ot sin 2(t — 7) cos(37)d7} =7
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A—r+—-—— B ———- ¢ —+—-— Db.————— E ———
32+4+52+9 (s2+4)(s2+9) 52—|—4+52—|—9 (s2+4)(s2+9) (s2+4)(s2+9)
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Answer Key: 1.D 2.A 3.E 4.C 5.B6.E 7.C 8.B
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